
1) Solve by factorising 
x2 - 8x - 9 = 0

Answer: ____________

2) Find perimeter of 
rectangle having 
sides a = 99 ft 
and b = 94 ft

Answer: ____________

3) 20
Find Volume of 

                        Rectangular Pyramid 
14

18

Answer: ____________

4) Find perimeter of 
rectangle having 
sides a = 96 in 
and b = 93 in

Answer: ____________

5) 14 x 1000

Answer: ____________

6) Find perimeter of 
square having each side 
(s) equals 28 m

Answer: ____________

7) Find perimeter of 
rectangle having 
sides a = 99 in 
and b = 32 in

Answer: ____________

8) Find area of triangle 
s = 75 cm

Answer: ____________

9) (2 x 11) - (1 x 1-3)

Answer: ____________

10) (2 x 11) - (1 x 1-3)

Answer: ____________

Total: ___ / 10

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

August 26, 2020

Sr: 26082020-1647

 

http://www.geekschool.co.uk


Answers:

1) x = 9 or -1 2) 386ft 3) 1680 4) 378in 5) 14000 6) 112m 7) 262in

8) 2435.6964481437cm 9) 1 10) 1
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